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cpaaludl elacYl /o 1 130,000 QS — Gipead) /o 50 130,000 | 35,0 2.5
QS — Giyead /> 15,000 Cpadluad) elme¥) /2 50 5,000 a0 2.5
Judl Ly /> N 250,000 Cpetlaall clzmeY) [a e 250,000 i 2.5
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2,000,000 = %20*10,000,000 = sl laa¥l | 2205

1,320,000 = (%3*100*40,000)+(%6*100*200,000) = Ju) Ll e 85 | 05

1,000,000 = %10%10,000,000 = 53y Lulas slimcl slal<a | 24205

568,000 = %10*5,680,000 = =ilall (e alia¥l dian | 420 5
1,278,000 = %25%(568.000-5,680,000) =slacy! e sl

1,846,000 = dakiall (55 Gpuas  Jaloal

3,834,000 = cLacY) sl 4205

il Al QIEEY) [~ ) 1,500,000 Ll lSIEEY) /> 5« 1,500,000 a0 2.5

Aol CASIREY) fa 14,000,000 | ke Aasal duld) CASIESY) /o 50 4,000,000 | 480 2.5

sball (520 ClSIEY) [~ 1) 2,000,000 saall Jsl anay /> 5« 2,000,000 iapn 2.5
Al cilsipay) [~ A 3,000,000 Capadll [ e 3,000,000 ap 2.5
sball (520 QSIESY) /& ) 500,000 Capadl /a1 500,000 i 2.5
Jull oy blaal /~ Y 1,000,000 slall (sae CISIRAY) /2 (e 1,000,000 3025
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Al Slslpay) [~ .1 1,200,000 CsSall (e iapn2b
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dagasall Cls)sY [~ 200,000

Logaeall lSIEY) /a1 200,000 Cyleaally il /> e 200,000 iapn 2.5

Cinylaadlly iyl fa M 6,700,000 Akl ClSIREY [ e 6,700,000 isn 2.5
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cileyall o J110,000,000 Gsaall [ e 10,000,000 1303

Gsauall /o N 4,000,000 | degenlly LjlaY) Ciojladll /> e 4,000,000 i3

el /~ 1) 30,000,000 Gsuall [~ 46 30,000,000 i3

Gexall [~ N 25,000,000 i) o e 25,000,000 a3

Cisylaalls <y /110,000,000 Sileyill [a 5. 10,000,000 i3
Ciyladlls Y /2 ) 5,000,000 il /~ o5 5,000,000 iapf3
Gaaganlly 40)laY1 Canjladll /2 ) 4,000,000 Casjladlly DY [a (e 4,000,000 a3
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11,000,000 + 2,000,000
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